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‘m‘ Menu Summer 11 Monday

Place Value Problem Solving

Write 1 709 003 in words. Find the missing number:

one million, seven hu ’ i B 7.184=| 145+ 13.9

Calculation/Algebra

Use column subtraction to solve this calculation:

1898385 , 627158 =

Reasoning
Fractions
What number is hidden in these equivalent 3 ofa
' 5
fractions?

number is 15.
25% of the same
number is 10.

5 Is Henry correct?

Explain your reasoning.
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‘m‘ Menu

Place Value Problem Solving
Use the correct symbol to compare these This shape is made
numbers: e, of 2 parallelograms,

e V) where one is a
220.007 reflection of the
o other. What is the
area of the whole

shape?

Calculation/Algebra

Use a written method to solve this calculation:

45171+ 9
Reasoning
Fractions
Subtract these fractions:
A A
3 1 Yala

Is Alison correct?

Explain your reasoning.

Summer 11 Tuesday

12m

A
£

15m

In this drawing
of 2 intersecting
lines, angle
1t A3%l)

twinkl.com



‘m‘ Menu Summer 11 Wednesday

Place Value Problem Solving

Round 595 000 to 1 inch is approximately 2.5cm.
the nearestten

thousand . Estimate how many inches in 7cm?
Calculation/Algebra

Use the order of operations to solve this

calculation:

2.8 inches

{ + 2 x 9 =

Reasoning

Fractions

Order these fractions from smallest to greatest: )
g The difference

between 203 000

and 3 000

is 20 000.
3 43
»16 16

oo|ut

Is Henry correct?

Explain your reasoning.
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‘m‘ Menu Summer 11 Thursday

Place Value Problem Solving

Write DCCLXIX in numerals. Write the next two prime numbers
o LS after 90.

Calculation/Algebra
Calculate the answer to this equation
whena=7

Reasoning
(8-5)x7=8-5x%x7

Fractions

Multiply these fractions:

1,3
6~ 4~

This is not correct because
you will do different
calculations first.

Is Alison correct?

Explain your reasoning.
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Place Value

Find the difference
betweenl13and -11

Reveal answer

24

Reveal answer

Calculation/Algebra

Find a pair of numbers that will
solve this equation:

5m + 12 =3nwhere m< 4

m = 3,
and n is a whole number n =29

Fractions

Divide the fraction by the whole number:

5 5

6 24

Summer 11 Friday

Problem Solving

Each table in a classroom has 5 dictionaries
and 3 pencil pots. There are 30 dictionaries
in the classroom. How many pencil pots

are there?

Reasoning

This pie chart shows the number of children
who chose their favourite colour.

This pie chart
shows half the
children chose blue
or yellow as a
favourite colour.

Is Henry correct?

Explain your reasoning.



